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L (a) Find the equation of the circle which passes through
(2,2)and belongs to the coaxal system of which the
limiting points are (1, 2) and (3, 5).

(b) Find the condmon that the chord of contact of
_tangents drawn from the pomt (x’ y’) subtends a
nght angle at the centre.

(c) Define radical axis of two circles. Find the radical
- axis of two circles and prove that the radical axis

_ is perpendicular to their line of centers. 9

P.T.O.
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vaé that the tangents at the extremities of a focal
chord of a parabola intersect at nght angles on the
dmectnx .

Prove thét‘ the portion of a tangent to a parabola
cut off between the - directrix and the curve

A subtends a rlght angle at the focus.

Find the locus of poles of tangents to the circle

Y4y =4 with respect to the parabola y’=4ax. 9

Find the locus of the pole w.rt. the 'ellipse'z—z + -
w2 .
.%-z- =] of agy tangent to the circle x} -I-y2 =

If the normal at one end of a latus rectum of an

ellipse passes through one extremity of the minor

~ axis, prove that the eccentricity e of the curve is

given by the equation ¢*+e’~1=0.

Show vthvat_ the line x cosa +ysina=p Will be
: 2 _a42
tangent to the hyperbola i‘—z-;y;- =1 if

| & ¢:c.>s2 a ‘_\bz sin @ = p’. 9
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Obtain the equation of the sphere circumscribing the
tetrahedron whose faces are:
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x=0,y=0,z=0; 2+ 2 +2=1,
(b). Find the equation of the sphere containing the
circle '
Xty 4P+ 2x-4y+62+5=0; x+2y+32-8=0
‘asa greaf circle. |
(c) Find the limiting points of the c;oaxial system of
spﬁeres determined by the system:
Py 3y 32+6=0
3:2+)F+z2+2x+4y—22+6¥b i 9

(a) Find the équation of the elliptic cone where vertex is
2 2

gt the origin and intersects the ellipse %’-2- + i—2=1
and x=a.
(b) Find the equations of lines of intersection of the

- cone x5y +2*=0 with the piane x-3y+z=0. Also
find the angle between the lines.

'(c) Find the equations of the right circular cylinder
whose guiding circleis:

B x2472+2?=r2; xtytz=0. 9

P.T.O.
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6. Trace any one of the following conics giving essential
 details:—

(@) 1751207 +8y*+46x-28y+17=0

(6) Fonyrtiyta=d 10
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